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Sub-Section Number: 1
Sub-Section Id: 335472198
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354726731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which city is known as the ‘commercial capital’ of Madhya Pradesh? | @19 €T 95T AT WSS & 'S0 o ded TeIemT &
& H AT G 87

Correct : 1 Wrong : 0

Options :

1. #¥ Bhopal | ¥
2. ¢ Indore | T2

#® Jabalpur | JEeqC
4. ® Gwalior| M@TiereR

w

Question Number : 2 Question Id : 3354726732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state has appointed Geetha Johri as its first worman DGP? | Tore T = a1 gl &1 U1 Ugell AlgaT ST
& &0 8 fgw frar 27

Correct : 1 Wrong : 0

Options :

1. ¥ Punjab | uSTE

2. ® Uttar Pradesh | J9¢ WeH

3. ¥ Madhya Pradesh | A& nasr
4. ¥ Gujarat | ToRTT

Question Number : 3 Question Id : 3354726733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first Indian to obtain fellowship in the prestigious Royal Society? | Wi T8d Tae @ramger # gk umwm
F ATl TIH AR 1 1 87

Correct: 1 Wrong : 0

Options :

1. ¥ SN. Bose | q.0A.919

2. ® 5. Ramanujan | U8 TAETFS

3. ®¥ ].C. Bose | S @ta™

4. ¢ Ardaseer Cursetjee | SRS FdeAT
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Question Number : 4 Question Id : 3354726734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the leader of the first Indian expedition to Antarctica? | SRRThC®HT H Ul W 12 STV o&F a7 &1 &7
Correct : 1 Wrong : 0

Options :

1. # G.5. Sirohi | SiT.ow g

2. ¥ 5.2 Qasim | Ta.7E. FEA
3. # 5.5 Sharma | T9.09. 9Hf

4. ® ST Kulkarni { T8I a0

Question Number : 5 Question Id : 3354726735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which state in India has the largest coal reserves? | 9Rd ® @19 & U0 H Gad dST BT HEX 57

Options :
1. # Bihar | fgR

2. ¢ Jharkhand | SIRES

3. ¥ Madhya Pradesh | Aea nay
4. ® West Bengal | qbem ama

Question Number : 6 Question Id : 3354726736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘National I%Iaritime Day’ is celebrated in India on ______ of every year. | TP aq! foad YRT H g ________
AT AT

Correct: 1 Wrong : 0

Options :

1. ¢ 5Sth April | 5 sfie
2. ® 7th April | 7 e
3. ® oth April | 9 el
4. ® 11th April | 11 a0&

Question Number : 7 Question Id : 3354726737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Part IV 4 of the Indian Constitution deals with: | YR Gl FTATTIYV A e Gae @qT &
Correct: 1 Wrong : 0

Options :
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1. ¢ Fundamental Duties | Td ®ded

2. ® Fundamental Rights | Aifeie s

3. ® Directive Principles of State Policy | T4 & Alid Mo Mg
4. ® Citizenship | Amieear

Question Number : 8 Question Id : 3354726738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Infosys co-founder returned to its board as non-executive, non-independent chairman in 20177 |

THITET &1 H 19§ G-Geqme 2017 H I-wriam, IT-Tadd efeay & &7 # s a1 | e e

Correct: 1 Wrong : 0

Options :

1. ® Narayan Murthy | TR gfd

2. ® 5. Gopalakrishnan | Td. TUTEF0H
3. ¢ Nandan Nilekani | g Hfeiepoft

4. ¥ N.S. Raghavan | U9.09. TTE&

Question Number : 9 Question Id : 3354726739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state or union territory has French as one of the official languages? | 76 T a7 Fgumiaa nea &
TTEraTieer ATaTelt § & Uw e 27

Correct: 1 Wrong : 0

Options :

1. ¥ Nagaland | 9TTAS

2. ® Daman & Diu | A9 R gF
3. ® Mizoram | 9w

4 ¢ Puducherry | g@'rjﬁ

Question Number : 10 Question Id : 3354726740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narmme the Indian whose poem was adopted as the National Anthern of Bangladesh? | 39 VR &7 A7 a1
T T BT ATATGS & TP T o & H U1 727 977

Correct: 1 Wrong : 0

Options :
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1. #¥ Sharat Chandra Chatterjee | IRa =g Tl

2. ¥ Rabindranath Tagore | T 21T

3. ¥ Bankim Chandra Chatterjee | dfeFH =g Tl

4. # Bibhuti Bhushan Mukhopadhyaya | Tenfa {uor gamear

Question Number : 11 Question Id : 3354726741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state in India is the largest producer of rice? | IRT # T GT T ATdA BT Tad ST IcUTEH 57
Correct: 1 Wrong : 0

Options :

1. ® Tamil Nadu | Jife=Tg
2. ® andhra Pradesh | 3emea
3. ® Haryana | gigmm

4. ¥ West Bengal | Ut e

Question Number : 12 Question Id : 3354726742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bharat Ratna awardee Bismillah Khan is farmous for which musical instrument? | WRate QTR fetaT feieHwear
g forg @it arerds & g nidg 87

Correct : 1 Wrong : 0

Options :

1. ¥ Tabla | FaaT
2. ¢ Shehnai | JEATE
3. ® violin | grie

4. ® Flute | Figey

Question Number : 13 Question Id : 3354726743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year did India win its first cricket World Cup? | WRa = WIW forehe ey o0 Tope and | SiraT am?
Correct: 1 Wrong : 0

Options :

® 1999
® 1996

® 1992
. ¥ 1983

ol L I

Question Number : 14 Question Id : 3354726744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0
The Mandla Plant Fossils National Park is locatedin __________. | SHaTsw TP JE (HEAT WTE SHaTed TP Jerm)

Options :

1. ®¥ Karnataka | @ic®

2. ® West Bengal | qkem ama
3. #¥ Rajasthan | THEIH

4. ¢ Madhya Pradesh | Ae@mca

Question Number : 15 Question Id : 3354726745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The carvings in the Urnaria ternples have resemblance to _______. | St wiet # [T _______ & GH 3
Correct: 1 Wrong : 0

Options :

¢ Khajuraho |G/l
® Sanchi jgwET

# Orchha |ssT

#® Sonagiri jE=TIRT

o L

Question Number : 16 Question Id : 3354726746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the Adegaon Fort located? | SITETTe & el &gl 9T &7
Correct : 1 Wrong : 0

Options :

# Hoshangabad | glmTeEneg
# Burhanpur jgREHYY

¢ Seoni | T

#® Datia | gidam

ol L I

Question Number : 17 Question Id : 3354726747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where are the Pandava Caves in Madhya Pradesh situated? | Hed Ues # Uigd [T Fg1 9T 87
Correct: 1 Wrong : 0

Options :

¢ Pachmarhi | TS
# Bhojpur | HGT
# Udayagiri | IgamiR

® amarkantak | STATHTE

ol L I
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Question Number : 18 Question Id : 3354726748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When was Van Vihar (Bhopal) declared as a national park? | a= &g (40T & TP Je &d GG T =T 477
Correct : 1 Wrong : 0

Options :

1. ¥ 1981
2. % 1976
3. ¥ 1980
4. ¢ 1983

Question Number : 19 Question Id : 3354726749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
General Maths and General Aptitude
The Ater fort of Bhind is located on the banks of ______ river. | T @ eRT foaT ______ TET & T TR B
Options :
1. ¥ Narmada | FHaT
2. ¢ Chambal | T&d
3. # Sindhu | &y
4 # Betwa | dqar

Question Number : 20 Question Id : 3354726750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The first woman Chief Minister of Jammu & Kashmiris ___________ . | S Ud B @ Ul AigaT gEaHaAt

Correct : 1 Wrong : 0

Options :

1. ¥ Shamma Jain | SWATAT

2. ¢ Mehbooba Mufti | AgeeT gFdT

3. # Syeda Anwara Taimur | 8387 3HaT 3G
4. ¥ Manju Kak | 59 #TF

Section Id : 335472199 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 1
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472199
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Aruna, Bhama and Chitra have sorme amount of money. The respective ratio of the money that Aruna and
Bhama had is 7:15 and the respective ratio of the money that Bhama and Chitra had is 7:16. If Aruna has Rs.
490, then the armmount of money Chitra hasis______. | ST, THT 31 2T & UTe g & 019 31 SIS 9T o Ut
ﬁmmmwﬁaw? 15 & Oa 7T &% X3 & uTe & o @ Gatad SrguTd 7:16 g1 Al ST & T 490 T g,
T & o T G T R

Correct: 1 Wrong : 0

Options :

1. ¥ Rs. 1050 | 1050 T2
2. ¥ Rs. 2000 | 2000 T2
3. ¥ Rs. 2150 | 2150 T
4. ¥ Rs. 2400 | 2400 w03

Question Number : 22 Question Id : 3354726752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

40 people participate in a computer course where there are 5 adults, 15 boys and 20 girls. The average age of

the whole group is 17 years. If the average age of the girls is 15 and the average age of the boys is 14, then the

averagegﬁeoftheadultsm ______ T YLK UTEIHH | 40 AT 91T ofd & el S aeeed, 15 @z 3K 20 agﬁmrr%l
ST g 17 o Bl a%agmﬁfﬁsﬁﬂirsmg 15 & o et 1 oftad oI 14 2, 91 aadh! Bt s sy

Options :
1. ¥ 20
2. % 25
3. % 30
4. v 34

Question Number : 23 Question Id : 3354726753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the radius of a circle whose circumference is 44cm. | U% I @1 Hea1 J1d ¢ Fad! aiRier 449t 21
Correct : 1 Wrong : 0

Options :

&

S
&

Question Number : 24 Question Id : 3354726754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If p(x) = 3x*-ax+1 and p(1) =2, then what is the value of ‘a’? / AT¢ p(x) = 3x¢-ax+1 AN p(1) =2, dl 'a' &I
A T 82

Correct : 1 Wrong : 0

Options :

L. 3
2.2
3%3
4. % 4

Question Number : 25 Question Id : 3354726755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad faiom
15, 25, 35, 45, 55
Correct : 1 Wrong : 0

Options :

1. ¥ 25
2. 8 30
3. ¢ 35
4. ¥ 40
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Question Number : 26 Question Id : 3354726756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 8 men can make § carpets in 8 days, then how many carpets would 16 men make in 16 days? [ ig 8 J&y 8
et # 8 et o7 T &, 9 16 J&5 16 ﬁﬁﬁﬁsﬁmﬁﬁ?mﬁ%

Options :

1. ¥ 16

2 83

2 Wigo

4. # None of the above | IU® | & P 51

Question Number : 27 Question Id : 3354726757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

0.56 X0.064x144
0.8x0.07x0.4x12

Correct : 1 Wrong : 0

Options :

1. ¥ 192
2.8 192
3 % 192
4 ¥ 0192

Question Number : 28 Question Id : 3354726758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the area of a square field is 14641 sq.m., then its perimeter is: | ITe TwF @R A FT 436 14641 a1 #leT
T SEHT UIHT &
Correct : 1 Wrong : 0

Options :

1. ¥ 480m | 480 |
2. % 482m | 482 Hr
3. v 484 m | 484 |
4. ® 486 m | 486 Hr

Question Number : 29 Question Id : 3354726759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

19th Dec 17 Shift 1



19th Dec 17 Shift 1

In a string MATHEMATICALMATHEMATICAL ... MATHEMATICAL, where MATHEMATICAL is repeated 10 times

we successively remove odd position letters from the original string and the successive residual strings also.

What is the last letter left? | § MATHEMATICALMATHEMATICAL .. MATHEMATICAL ® 5igT MATHEMATICAL

m 10 IR g3 &, BA 09 99 9 Sqaiqaid: joud Il i T araRt @1 geram oK T Iadiae 3y g2t o7 «ff uar frm
ST FAT 5

Correct: 1 Wrong : 0

Options :

ol L
&
)

Question Number : 30 Question Id : 3354726760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Solve: (75)%—(45)2=30*?/ G hIT=IC: (75)% — (45)2=30* ?

Options :

1. ¥ 80

2. ¥ 120

3. % 90

4. # None of the above | IuZ® & & HIE 51

Question Number : 31 Question Id : 3354726761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After giving a discount of 20%, a shopkeeper made a profit of 20%. Find the ratio of the marked price to the
cost price. | 20% @1 T WS HA & Welld, U GHRHER = 20% BT & UTH oram siferd 4ra &1 %9 4rd @ SIuTd J1d @)

Correct: 1 Wrong : 0

Options :

>

® 54
® 4.3
vigp
® 21

o L
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Question Number : 32 Question Id : 3354726762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a man can row 30 km downstream and 18 km upstream each in 3 hours, then what is the speed of boat in
still water? | T FIE cafs U =TT BT 3 T & 30 Rewft oy &7 feram & U 39 21 aug #f o & e 18 el @ awar 2 A
TRR urEtT # e @ i T4 87

Correct: 1 Wrong : 0

Options :

1. ¥ 8 kmfhour | 8 TordT/eeT

2. ® 10 kmjhour | 10 it/ eeT
3. # 12 kmjhour | 12 it/ e=T
4. ® 15 kmjhour | 15 it g=T

Question Number : 33 Question Id : 3354726763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The respective ratio of the father’'s age to his son’s age is 12:5. roduct of their ages is 1500. The ratio of
their ages after 10 years will be: | TUaT & 31 7 I U &1 mﬁaafgcragmzr 12:5 g1 IhT 311 &7 PG 1500 7l

10 a9 WelTd I ST T ST gI:

Correct : 1 Wrong : 0

Options :

® 3.2
v 21
® 4:3
® $157

i O e

Question Number : 34 Question Id : 3354726764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The gnra’rl{eﬁ numbers d1v1d1n§q1 09 and leavmg a remainder of 4 in each case are: | & ST §& o9 109 #Y
W U@

Options :

1. ¥YSand7|53RK7

2. ¥ 2and 112311
3. % 3and 7| 3R7

4 % 11and 1311 313

Question Number : 35 Question Id : 3354726765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The least common multiple of two numbers is equal to their product. If the given product is 35. What is the

highest conuél?on factor? | gt SISl T AYTH QAT Ik U & aXia gl a%%ﬁmnmgvmw 35 &, 1 Hgad
FAT 5

Correct: 1 Wrong : 0

Options :

sl S
S

Question Number : 36 Question Id : 3354726766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifxf - 16x° + 12 x* — 2x* + 10x2 — 20x + 5 is divided by x — 1, then the remainderis__ . Jafe x6
-16x% + 12 x4 - 253 + 10x2 — 20x + 5T x — 1 €aRT Tasnford fham Srar &, o Aude
&l

Correct : 1 Wrong : 0

Options :

® 10
® g

® 5
4 ¢ -10

o L

Question Number : 37 Question Id : 3354726767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The sum of the first four prime numbers is: | WIW IR =T GEATT T T &
Correct : 1 Wrong : 0

Options :

1. % 10
28 11
3. % 16
4 ¢ 17

Question Number : 38 Question Id : 3354726768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

How many different 4 digit numbers can be formed using the digits of 50097 [ 5009 @& siwT ®T IUATT BT fora =T
fafg 4 FEITT ST AT

Options :
1.-%3
2.¥8
3% 12

4 ¥ 18

Question Number : 39 Question Id : 3354726769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At a gathering of 30 people, there are 20 people who all know each other and 10 people who know no one.
People who know each other a hug and people who do not know each other shake hands. How many

handshakes occur? | 30 @ & #o0dAmUAE Gﬁw—gaﬁqﬂﬁ‘%\?ﬁ‘( 10 Eﬁﬂﬁ%%‘GﬁWaﬁ%ﬁ:@Wﬁ”%’l
W@?ﬁﬂmﬁaﬁmﬂﬁﬁaﬁﬁaﬁtw—ﬁaﬁﬂﬁwm T THerTd 81 gt grer Ty ST 872

Correct: 1 Wrong : 0

Options :

1. ¥ 240
2. 8 245
3. ¢ 290
4. ¥ 480

Question Number : 40 Question Id : 3354726770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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On a train trip to Bombay from Chennai, Amuda sat in the 8th carriage from the front and Balu sat in the 10th
carriage from the back. There were two carriages between Amuda and Balu. Amuda was after Balu in the train
from engine to end. How many carriages were there in the train? | 9% & avag &1 UF & J1ET H, ST T & 8

T2 7 38T ST AT 19 & 103 Tear # om anger o oot ¥ ey # ST T2eat 9N SO & T R T Y OIS ¥ SIeT A
g o W@ H ﬁ:ﬁ% a7

Correct : 1 Wrong : 0

Options :

1. v 14

2. % 18

3. % 15

4. % 16
Section Id : 335472200
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory

General Hindi

Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472200
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
et edor BTy -
Options :
1% g
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Question Number : 42 Question Id : 3354726772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

auf & FPR B1d 3l

Correct : 1 Wrong : 0

Options :

# oo 7 §g% avl

-~

Question Number : 43 Question Id : 3354726773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST €e alelT g & -

Correct : 1 Wrong : 0

Options :

3. ¥ uig
4 ® B2y

Question Number : 44 Question Id : 3354726774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

-7 T 319[Reg; AT e, & -
Correct : 1 Wrong : 0

Options :

» w ik»['qu.r

N o=

3 & gruT
4 ® U

Question Number : 45 Question Id : 3354726775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T 22T & -
Correct : 1 Wrong : 0

Options :

1. 837
2 8 q
3. vy

4 8 g

Question Number : 46 Question Id : 3354726776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘ST W UATaT! g H & @I a1 g7
Options :

1. ¥ aET

2. ¥ g

3 ® 30

4 v Uiy

Question Number : 47 Question Id : 3354726777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T uid Siife & @ o 0 Seg Mg # A T AT g?
Correct : 1 Wrong : 0

Options :

1. ® gaar
3. ¥ 4y
4. ¢ g

Question Number : 48 Question Id : 3354726778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘TER F A s g e arg?

Correct: 1 Wrong : 0

Options :

1. ¥ Iq+UR
2. ® g+
3. ¥ IqHER
4. ® I+
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Question Number : 49 Question Id : 3354726779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g F AAm e g H A BT AR

Correct : 1 Wrong : 0

Options :

1. ¥ 37
2. ® q@q
3. ¢ arfdew
4 % 99

Question Number : 50 Question Id : 3354726780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T IUET & g7 e (Mg H | HIT 57

Correct : 1 Wrong : 0

Options :

1. ¥ e
2. ¥ 3EET
3. ¢ T
4. % arEam

Question Number : 51 Question Id : 3354726781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘gEdg Jeg § g § € @19 91 90T 27

Options :

1. ¢ FHURT gHe
2. ® fgranE

3. ¥ goyey guE

4. ® qgefiy gAE

Question Number : 52 Question Id : 3354726782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

OIS T F G Gk ar s g A w ar ge

Correct : 1 Wrong : 0

Options :

1. ® fepam g7

2. ® O =9 F ag |/E=T
3. ¢ it g7

4. ® g g smEr
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Question Number : 53 Question Id : 3354726783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SRATT W G T TG H G BT A7
Correct : 1 Wrong : 0

Options :

1. ¥ e@ae
2. ® e
3. # argET
4 v G

Question Number : 54 Question Id : 3354726784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SR T % Forar g 32
Correct : 1 Wrong : 0

Options :

1. %0
2% 3
3¢ 2
4 8 3

Question Number : 55 Question Id : 3354726785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T o fae @1 e, 59 @Il SRl 9,
LILCIE] T G, FAT T G Z R 4l
H I 97 AWK 3 Fal [ddeTd gu?

Options :

1. ¢ rfderifes SEwR
2. ® TUF SEER

3. ¥ JUAT AR

4. ® IehyT AHFR

Question Number : 56 Question Id : 3354726786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JUgH AT deg giag - et

Correct: 1 Wrong : 0

Options :

1. ® sAdw

2. ® yidesd

3. ¢ e

4. ® gEFTEH
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Question Number : 57 Question Id : 3354726787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

EAT e A AR

Correct : 1 Wrong : 0

Options :

1. ® =99 §fy
2. et |y
® wEw gy

AW

Question Number : 58 Question Id : 3354726788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fo my oot & & waia qeg-gm E -
Correct : 1 Wrong : 0

Options :

1. ¥ =it - goy
2. ® F9-3uaq
3. ® - i
4. ¢ Tada-uE=

Question Number : 59 Question Id : 3354726789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AAIET Yeg T gl ATHIGE [90g & -

Correct : 1 Wrong : 0

Options :

1. ¥ 79 @ g arer
2. ® g9 ¥ gRA @
3. ® g9 9§ gRA amer
4. ¢ 79 & T qTAT

Question Number : 60 Question Id : 3354726790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
SWYET Jeg H P14 | 4T g7
Options :

1. ¢ 91

2. 8 1o

® &

AR\
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Section Id : 335472201

Section Number : 4

Rural Economy and Panchayati Raj

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472201
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the estimated area under certified organic farming in Madhya Pradesh as of 20107 [ 2010 &

Heauer ¥ UHTOIG Afde QdT & 9gq SIgAT-a S T 917

Correct : 1 Wrong : 0

Options :

1. ¥ 552 lakh hectares | 5.52 AT de R
2. ¥ 1.48 lakh hectares | 1.48 @G gde %
3. ® 0.54 lakh hectares | 0.54 @ gdeaR
4. # 2 85 lakh hectares | 2.85 @ 3deaR

Question Number : 62 Question Id : 3354726792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the authority designated for implermentation of MNREGA in Madhya Pradesh? | A& s # A= &
w21 o ol @1 AT AT TSR 37

Correct : 1 Wrong : 0

Options :

1. ¥ MP State Employment Guarantee Council | HeT W T TR TRET B34

2. ® MP State Labour Department | W U3 T2 FT 4A fodmT

3. ¥ MP State Rural Development Department | W& WSS Twad &7 UTH0T ferere famT
4. ¥ MP State Road Development Corporation | W TSy (Sa® A% ad e =1H
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Question Number : 63 Question Id : 3354726793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the percentage of seats reserved for OBCs in Panchayats in Madhya Pradesh? | e Wey # U=mgai # a1
s 2 (o o 07 P i s e 27

Options :

1. ¥ 10%
2. % 20%
3. ¢ 25%

4 ¥ 33%

Question Number : 64 Question Id : 3354726794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under Mukhya Mantri Annapurna Yojana in Madhya Pradesh, wheat is sgplied to BPL families at what rate? |
e WS H Y& HAT SO A1 o d5d, el UIe TRl @1 1T Pl SMyfd e 3¢ o &1 ST g

Correct: 1 Wrong : 0

Options :

Question Number : 65 Question Id : 3354726795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Union Cabinet has approved the Establishrment of _______ at Amlaha, Sehore. | HEI ATIHSH 4, SFATET, WEIC
" Eﬁwmcﬁwqggail

Correct : 1 Wrong : 0

Options :

1. # Indian Agricultural Research Institute | WG FY ITer T

2. ® National Agricultural Research Institute | TFT FIY gTer GEIH

3. # Central Research Institute for Dry Land Farming | dga & SEIg B 218 e HIa
4.

¢ Food Legumes Research Platform (FLRP) | @& Gicar e tee® T (THUASTRuD)

Question Number : 66 Question Id : 3354726796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ia.’_oa.ns under Swarna Jayanthi Gram Swarozgar Yojana are granted to _________ . | Tt ST TTH TR IS T

________ o ToIT F0T 0 Torr ST 21
Correct : 1 Wrong : 0

Options :
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1. # Individual borrower | BT IUREFTT

2. ® Two joint borrowers | &1 §g%d IUREHAT

3. ® Entire village as a unit | T% %18 & &7 H G Td
4. ¥ Self Help Groups | &< @graaT aqg!

Question Number : 67 Question Id : 3354726797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

No. of Gram Panchggats covered in India under MGNREGS as in 2017 is between______. { 2017 d% MNREGS
(AT & SITTid waX Sl ST a6l UTH U=Tad | d gaear

Correct: 1 Wrong : 0

Options :

1. ¥ 250000-255000
2. ¥ 256000-260000
3. ¢ 261000- 265000
4. ¥ 266000-270000

Question Number : 68 Question Id : 3354726798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Lahiri Committee was associated with: | @llge! QNG SO Gekg 4T

Options :

1. # Industrial Sickness | s sw@T

2. ® Minimum Support Prices of Agriculture Products | F1¥ Ieutg! & ~gAay anefd g7
3. ¢ Price Structure of Edible Oil | @rer del %l gad SeamT

4. ® Handicraft Exports | gHaiday & Haid

Question Number : 69 Question Id : 3354726799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In August 1971, the Expert Cormrmnittee headed by ________ concluded that it would not be advisable to
introduce crop insurance in near future even on a pilot basis. | &M&T 1971 #, ______ T ST AT e FiRTE
e fererter for Toeme widsar #, i TR o7 oft Bae AT ®1 3& F1 ST F51 5

Correct: 1 Wrong : 0

Options :

1. #® Priolker Comrmittee | UTEATHT GiHTd

2. ¢ Dharam Narain | ¢RH TR

3. # v M. Dandekar | &1 00 Z2aT

4. #¥ Narasimhan Cormmittee | TXTGwE- GHTd
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Question Number : 70 Question Id : 3354726800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Panchayati Raj Systemmn, at all three levels, will be established in all the states which have the population
moretgl]lan _____ Lacs. | gt d191 Tt W U T T HoTTel, 3 St Tt # Siiua &l gt et srerer o @G drE &

Correct: 1 Wrong : 0

Options :

S W N
® { =
BOW N e
ot o

o

o

&

Question Number : 71 Question Id : 3354726801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which schedule of the Constitution, are the tribal areas of Madhya Pradesh covered? | ®fder 1 fora argeeit
#, e W o STTIGETHT &A1 T ek T T 9

Correct : 1 Wrong : 0

Options :

¢ Schedule 5 | ST 5

# Schedule 6 | 3T 6

# Schedule 11 | arggEit 11

# None of the above [ g0 & @Ig 751

o L

Question Number : 72 Question Id : 3354726802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the objective of Systemn of Rice Intensification (SRI) in Madhya Pradesh? | W& UsT H =ITalel o 16 1epe0T il
TUTTEAT (QHSTR'&FI% HT IS AT 57

Options :

1. #® Ensuring employment to rural youth | TTHIUT Zarsif #1 TSR T HAT
2. # Promotion of non-farm activities | TR-FW MiATATE=T &t agar 247

3. ® promotion of fisheries | WFe! UTA- ®1 S 1aT ST

4. ¥ Enhance productivity in rice cultivation | ZTae &1 @41 # IcUgHdaT a5 =T

Question Number : 73 Question Id : 3354726803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the most important objective of Sansad Adarsh Gram Yojana? | Qg g U0 AT & Gaired Agcagu!
IR FAT 37
Correct: 1 Wrong : 0

Options :

1. # Promotion of agriculture in villages | Tt # F &1 ag1aT AT

2. ® Increasing rural employment only | TTHIT TR # Fhe FCAT

3. ¢ all-round holistic developrment of a village | Ta Tl &7 GaTToT GAT e
4. # Supporting education in villages only | T8t et # féem # @ 247

Question Number : 74 Question Id : 3354726804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Latest varieties of seeds are available to farmersat _________. { TrEtw T e 0T e W &
@ JUAET F1T B

Correct : 1 Wrong : 0

Options :

1. #® village co-operatives | TTH TgFRI Hg
2. ¥ Open markets | AT IR

3. ¢ Seed hubs | €I ga

4. ® panchayat offices | T=mg Fgiaa

Question Number : 75 Question Id : 3354726805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following awards is associated with agriculture in India? | YR # 99 # & %19 97 [{EFR F9 & Garad

Correct : 1 Wrong : 0

Options :

1. #® Shanti Swaroop Bhatnagar Award | d €T HeATR [TEFR
2. ¢ Borlaug Award | aRANT JERR

3. ® Kalidas Samman | Ficiard G

4. ® Dronacharya Award | GITETS [RERFR

Question Number : 76 Question Id : 3354726806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

19th Dec 17 Shift 1



19th Dec 17 Shift 1

‘Swajaldhara’ is a project at Panchayat level relating to ________. | TR €T ST U T AR T

Correct: 1 Wrong : 0

Options :

1. ¢ self-sufficiency in drinking water in rural areas | TTHIT &= # Fi= & U4t # SerTe@T
2. ® Canal Irrigation | 75T =g

3. ® Minor irrigation | @Y &=

4. ® Major irrigation projects | g E@mE aiiemmg

Question Number : 77 Question Id : 3354726807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The compilation of project initiatives under Saansad Adarsh Gram Yojana bears which of the following
names? | ATae AT TTH FINHT & SaTia GRAHT dgal @7 oo, e 8 & o 9 & foram SfraT 22

Options :
1. ¥ Ummeed | 3wiig
2. ® Sankalp | g%eq

3. ® Sahayog | g4
4. ¢ Sankalan | @&

Question Number : 78 Question Id : 3354726808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT an objective of Paramparagat Krishi Vikas Yojana ? | WRTTd F1Y faara FiT &1
TogToiaT ® & @47 UF J299 T8 87

Correct : 1 Wrong : 0

Options :

1. ® Improve soil health and organic matter content | GaT & Qe 3} Afcrwr ugref amt # gig #er

2. ® Promote organic farming | Sfa® Y F1 ag1aT AT

3. ¢ Eradicate all other types of cultivation | &g T TR &1 W1 &7 IGAT FCAT

4. ® Certification of organic produce by involving farmers | Toram! &1 ATTH T FTal -1 JcUTEA BT THIOTEHOT

Question Number : 79 Question Id : 3354726809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Computer Knowledge

In India, the Environment (Protection) Act was enacted in ______. | TR §, uiaor (gegmm sraieem il
fep<IT TT2IT &M

Options :
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1. ¥ 1947
2. ¢ 1986
3. ® 1991
4. % 2008

Question Number : 80 Question Id : 3354726810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In 2010, about 85 per cent of India production of silk was contributed by ___________ state by rearing
multwoltlne hybrids of silkworm. { 2010 H, YW & HIST & Tg mﬂﬁagam-—r e |
ZRT, IRT # Fef LI & JcUTEA T T 85 e e ﬁrarrvndu E

Correct : 1 Wrong : 0

Options :

1. ® andhra Pradesh | e uesr
2. ® Punjab | Wa

3. ¢ Karnataka | @ic®

4. ¥ Madhya Pradesh | A ney

Section Id : 335472202

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472202
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In computer security, ________ means that computer s',vstem assets can be modified only by authonzed partles.
| IS GOHTH, ________ T aref ¢ o avege e ufvauiat @t Wuﬁmﬁﬁma&gﬁa

Correct: 1 Wrong : 0

Options :

1. # confidentiality | Mu=izar
2. ¢ integrity | 3r/@EqT

3. # availability | IUaeET

4. ® guthenticity | WHTOEIT

Question Number : 82 Question Id : 3354726812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following can be used to connect a keyboard to the computer? | 957 # & e suam, e =1
TGS 9 Ale & oy foram < aaar 27

Correct : 1 Wrong : 0

Options :

1. ® Video Graphics Array (VGA) port | @it vmithea UR (ST ie
2. ¢ Universal Serial Bus (USE) port | JHadd d1ad a6 (JUde) T1E
3. # Ethernet port | EetAT U2

4. ® FireWire port | BTEORETAT TIE

Question Number : 83 Question Id : 3354726813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to enter the current time in MS Excel? | UAUH UFdd ¥, a0 909 Hldqe & & foy T
SiTéepe & T SaTAT a7 57

Correct : 1 Wrong : 0

Options :

1. #® Ctrl+5hift+<
2. ¢ Ctrl+5hift+;
3. ® Ctrl+Alt+T

4. ¥ Ctrl+Tab+T

Question Number : 84 Question Id : 3354726814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the purpose of the ‘Sort’ feature in MS Excel? | UHUS Ugdd H ‘Gl hlak &1 $aT J5T 51T 87

Options :
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1. ® It creates names for a range of cells | Ig Hed @1 & & feig 717 forge Fear 8
2. ® It filters a range of cells for a value [ Ig et 19 ¥ A7 So@ &1 &1 B et FaT 2l
3. ® It groups rows and forms an outline | Ig U HI YT FAT & X TF ATITATGH BT a41aT 2l

4. ¥ It organises a range of cells in alphabetical or numerical order | Ig Held @1 &1 PI aUTwH AT b 70 &
TIATRIT FAT 51

a

Question Number : 85 Question Id : 3354726815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is a Browser? | 35K &1 g1l 87
Correct : 1 Wrong : 0

Options :

1. ¥ An HTML system | U% T IUAUA [OEeH
2. ® A Server | % Ha¥

3. ¥ 4 software program that enables you to view www dOCUMents | @ QIFedaT TITTH ST ST wiwrw STHIHT
TG H GyH a9ET 8l

4. #® Hierarchical scheme for indication logical and sometimes geographical venue of a web-page from the

network | AT & U de U R qTicher S Fi-andt Ao eia & dad &

Question Number : 86 Question Id : 3354726816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a web browser? | FHAT0RET # & F2T 0% dd ATI9K gl 57
Correct: 1 Wrong: 0

Options :

1. #® Google Chrome | Td ®1H
2. ® Mozilla Firefox | HIN@T BToRGHg

3. ¥ Visual Studio | Tavem ggiear
4. # Internet Explorer | e3¢ UFaIART

Question Number : 87 Question Id : 3354726817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one is the graphical representation of algorithm? | S8 & FaT UaTIH HT STed! foenu g2
Correct : 1 Wrong : 0

Options :

1. ® syntax | fwa
2. ® Program | WU
3. ¢ Flow chart | Tal TC
4. ¥ Bar graphs | 9% UT%

Question Number : 88 Question Id : 3354726818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following keys is use to delete a character to the left of the cursor in MS-Word? | TAUH a2 H,
HEC o TS AT o ST B A o Tl o T | & T it T Ui e

Correct: 1 Wrong : 0

Options :

&0

1. ® Enter | 0¥

2. ® Delete | f&eflT

3. ¢ Backspace | s@qud
4. % Insert | TIaC

Question Number : 89 Question Id : 3354726819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The ________ key is used to move the active cell to the cell A1 in Excel. | ________ T UGN, Uepda § Ulged aef @l
a9 A1 H g w0 & Ty T ST g1

Options :

1. ¢ Ctrl + Home
2. ¥ Home

3. ®¥ Page Up

4. ®¥ Page Down

Question Number : 90 Question Id : 3354726820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WAN stands for: | WAN &7 gof &7 g:
Correct : 1 Wrong : 0

Options :

¢ Wide Area Network | GTgg TRT A
# World Area Network | g URT Aea®
#® Wide Agent Network | @TES USe dead
# Wide Area Neutral | aEeg UiAT 95

o

Question Number : 91 Question Id : 3354726821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The minirmum number of rows and columns in a table in MS-Word docurnent is____. | AT a2 STggHe § UF
ot | T 3 Tl &1 TIATH GG

Correct : 1 Wrong : 0

Options :
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1. v 1x1
7
3 8 1x2
4 8 2x2

Question Number : 92 Question Id : 3354726822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following keys makes all windows transparent so that you can see your desktop? | Faa # & @9 €t
Fiorat it et @t ura s e 2T & e ey s SveeTd 39 9w 87

Correct: 1 Wrong : 0

Options :

# windows Logo Key + Home Key
¢ Windows Logo Key + Spacebar Key
#® Windows Logo Key + Plus Key

i O e

# windows Logo Key + Minus Key

Question Number : 93 Question Id : 3354726823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which option is used to see the docurmnent before the printout is taken? | iz & & Ugdl STHgHe F1 @ & oy Fore

Options :

1. ® paste | UqT

2. ® Format pointer | BTH¢ Jaiget
3 % Cut | #T

4. ¥ Print Preview | fi gy

Question Number : 94 Question Id : 3354726824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The internet is also known as: | $2¢4< @1 56 A0 & HT A=T 9197 3
Correct : 1 Wrong : 0

Options :

1. ¥ NOT
2. ¥ NAT
3. ¢ NET
4. ® NFT

Question Number : 95 Question Id : 3354726825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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_________ is the length of IP address. | AEUI UST HI dals _______Fldl 2l

Correct : 1 Wrong : 0

Options :

¢ 32 bits | 32 fee
#® 64 bits | 64 TT
#® gbits | 8 faT

#® 16 bits | 16 TeT

o U L I

Question Number : 96 Question Id : 3354726826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Moving process from main memory to disk is known as: | §@7 BART & &g & gid uier e #gamd 8
Correct : 1 Wrong : 0

Options :

1. # Transferring | ZTEGRIT
2. ® Catching | ¥
3. ¢ Swapping | Faum

4. ® Spooling | gYfein

Question Number : 97 Question Id : 3354726827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is NOT an advantage of using computerized spreadsheets? | FFEIgd GUaIe o JULANT BT FAT Tdr AT Ta1

Correct : 1 Wrong : 0

Options :

1. # Flexibility moving entries | Taaataieie! giam U=s o
2. ® Speed of calculation | TUHT & TTid

3. ® Ability to generate tables | FTieerId a9 &1 AT

4. ¢ Cost of initial set-up | SRTHF VT-310 H AT

Question Number : 98 Question Id : 3354726828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ghe grocesgs to verify the username and password is knowr as: | I8 o UTHdS &1 GqaT0d B Bl TihaT (4T &

Options :
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# Logic | #Tw
# Checkin | gF g
¢ suthentication | WHTOTOT
#® puthorization [ WTTErEoT

5

Question Number : 99 Question Id : 3354726829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_________ provides the input for a voice recognition systern. | U ________, G199 Repiua ey (sma ugam=-
a?r TG o Tl ST W T gl

Correct: 1 Wrong : 0

Options :

1. ¥ OMR | AT

2. ¥ OCR | St

3. ¥ MICR | URSITEETSIR

4. ¥ Microphone | ATSHIB

Question Number : 100 Question Id : 3354726830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

__________ is the shortcut key used to align contents to center in MS word. | __________ @ ewe gl g rraerT
I gAuE a8 # e it @ e # garge @ & g s 8

Options :

1. ¥ CTRL+L
2. ¥ CTRL +E
3. # CTRL +R
4. ¥ CTRL +]
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